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Rounding to Sum

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Over the summer Jerry earned 134 dollars mowing lawns
and another 676 dollars trimming weeds. To the nearest
ten, how much money did Jerry make total ?

Roger was playing his favorite video game. In the first
round he scored 711 points and in round two he scored 199
points. To the nearest hundred, how many points did he
score total ?

A grocery store ordered 679 bottles of regular soda and
876 bottles of diet soda. To the nearest ten, what is the
total number of bottles the store ordered?

A candy company sells 295 boxes of sugar candy and 449
boxes of chocolate candy every day. To the nearest
hundred, what is the sum of the boxes of candy they sell?

An ice cream shop sold 801 chocolate cones and 268
vanilla cones. To the nearest ten, how many cones did the
ice cream shop sell all together?

An apple orchard was split into two sections. Thefirst had
391 trees and the second had 833. To the nearest ten, how
many trees were there total in the orchard?

On Monday a shipping company sent out 280 boxes. On
Tuesday they sent out another 811 boxes. To the nearest
hundred, what is the total number of boxes they sent out?

Emily was downloading apps to her phone. The first app
she downloaded was 434 kb and the second was 666 kb.
To the nearest ten, what was the total size (in kb) of all the
apps she downloaded?

Katie was |ooking through old photo albums. The first had
161 pics and the second had 470. To the nearest ten, how
many pictures were there total?

At the bank, a customer turned in 659 dimes and 105
nickels. To the nearest hundred, what is the total number of
coins the customer turned in?
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Rounding to Sum Name: Answer Key
Solve each problem. Answers
Round First  Round After

Over the summer Jerry earned 134 dollarsmowing lavns 130 + 680 134 + 676 1 810
and another 676 dollars trimming weeds. To the nearest 810 810=23810
ten, how much money did Jerry make total ? ” 900
Roger was playing his favorite video game. In the first 700 + 200 711+ 199 3 1,560
round he scored 711 points and in round two he scored 199 900 910=900 '
points. To the nearest hundred, how many points did he 00
score total? 4. /
A grocery store ordered 679 bottles of regular soda and 680 + 880 679 + 876 1.070
876 bottles of diet soda. To the nearest ten, what is the 1560 1555 =1560 | > ’
total number of bottles the store ordered?

6. 1,220
A candy company sells 295 boxes of sugar candy and 449 300 + 400 295 + 449
boxes of chocolate candy every day. To the nearest 700 744 = 700 7 1,100
hundred, what is the sum of the boxes of candy they sell?

8. 1,100
An ice cream shop sold 801 chocolate cones and 268 800 + 270 801 + 268
vanilla cones. To the nearest ten, how many cones did the 1070 1069 = 1070 g 630
ice cream shop sell all together? '

10. 800
An apple orchard was split into two sections. Thefirsthad 390 + 830 391 + 833
391 trees and the second had 833. To the nearest ten, how 1220 1224 = 1220
many trees were there total in the orchard?
On Monday a shipping company sent out 280 boxes. On 300 + 800 280 + 811
Tuesday they sent out another 811 boxes. To the nearest 1100 1091 = 1100
hundred, what is the total number of boxes they sent out?
Emily was downloading apps to her phone. The first app 430 + 670 434 + 666
she downloaded was 434 kb and the second was 666 kb. 1100 1100 =1100
To the nearest ten, what was the total size (in kb) of all the
apps she downloaded?
Katie was looking through old photo albums. Thefirsthad 160 + 470 161 + 470
161 pics and the second had 470. To the nearest ten, how 630 631 =630
many pictures were there total?
At the bank, a customer turned in 659 dimes and 105 700 + 100 659 + 105
nickels. To the nearest hundred, what is the total number of 800 764 =800
coins the customer turned in?
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ﬂé Rounding to Sum Name:

Solve each problem. Answers
7 N
1,560 630 1,100 900 700 L
800 1,220 1,070 810 1,100 2.
\ Y
3.
1) Over the summer Jerry earned 134 dollars mowing lawns and another 676 dollarstrimming || ,
weeds. To the nearest ten, how much money did Jerry make total ?
5.
2) Roger was playing his favorite video game. In the first round he scored 711 points and in
round two he scored 199 points. To the nearest hundred, how many points did he score 6.
total ?
3) A grocery store ordered 679 bottles of regular soda and 876 bottles of diet soda. To the 7
nearest ten, what is the total number of bottles the store ordered?
8.
4) A candy company sells 295 boxes of sugar candy and 449 boxes of chocolate candy every 9
day. To the nearest hundred, what is the sum of the boxes of candy they sell? '
10.
5) Anice cream shop sold 801 chocolate cones and 268 vanilla cones. To the nearest ten, how
many cones did the ice cream shop sell al together?
6) An apple orchard was split into two sections. The first had 391 trees and the second had
833. To the nearest ten, how many trees were there total in the orchard?
7) On Monday a shipping company sent out 280 boxes. On Tuesday they sent out another 811
boxes. To the nearest hundred, what is the total number of boxes they sent out?
8) Emily was downloading apps to her phone. The first app she downloaded was 434 kb and
the second was 666 kb. To the nearest ten, what was the total size (in kb) of all the apps she
downloaded?
9) Katie waslooking through old photo albums. The first had 161 pics and the second had
470. To the nearest ten, how many pictures were there total ?
10) At the bank, a customer turned in 659 dimes and 105 nickels. To the nearest hundred, what
is the total number of coins the customer turned in?
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